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[FA] A= {2X1,2X2,2X3,,2X9} = n(A)=9
[[F] A= {2X1,2X2,2X3,-,2X10} = n(A)=10
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[72] n(AUB)=n(A)+n(B)—n(A N B)=9+6-3=12
Bz 12 fE
[I£] n(AUB)=n(A)+n(B)—n(A N B)=10+6-3=13

Az 13 A

¢113X— azbd->< V5 3 OfxEDF
2] bab

[IE] baa

i

(fE& £9)



113 — AKX31TH
] DLEX Y Tab2) oD 3] THHEMBEIX,

[E] LELY Tazby O 13) THHEHAIL,

144 X— FEINHBH3TH
[72] 4 HEOFREL3 HMORELZXATIUE. GRL. H71)

[[E] 4 fHoFEELI HoAELZXBTHIE.  GR1. ##1)

€1633—  H={

[F]
(7X6)
— 7Co 2 X1 21 7
P(A) 10Ce ( 10 X9 ) 45 15
2 X1
[E]
P(A)=1—P(A)
= P(A)=1—-P(A)
7 8
RS AT

(i £9)



184 —
[F]

1 .15 16 _ 1
1024 ' 1024 ~ 1024 64

P(BUC)=P(B)+P(C) =0.015625
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